N & 0l & At

o o Al

A

= o
20228 = 20 A St AMEEESIH A
SA SETARA
M G2 HAHK
S ol AL (Bl AIE ELE S H) (2 &HH)
- _ _ RE]
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AP A 2,264,934 249,500 2,015,434
ot%=2 EAXHel 2,264,934 249,500 2,015,434
SHE T A (Bt E A SHEI ) 2,264,934 249,500 2,015,434
220t 22 2,254,934 248,410 2,006,524
201 2Et2Hy| 5,160 5,928 ANT768
02 B32%H| 5,160 5,928 ANT768
Odtx=TAI2E DIAYs ER
430 * 1,000 * 123 5,160
202 04d| 2,982 2,982 0
01 2L HI 2,982 2,982 0
Odtx=2&2 FE4 L B2 =X 2,982
207 SR H L 9,000 9,500 A500
01 24| 9,000 9,500 A 500
Ootx=x | 29 9,000
401 Al HI L 2 THHI 2,237,792 230,000 2,007,792
01 Al&H| 2,237,792 230,000 2,007,792
Odle=HXMelAld JHE L Mot 22825 100,000
Qotsatz =48 B 80,000
ORI, I8 ZB226I422 B2 A 935,800
OMx, AAI 23622 B2 A 28,740
OA2, 20| 236t =2 BE=Z2A1 13,238
O B20=22 B3 At 40,274
Oodtdt ZEo=22 B2 At 18,017
OOt S22 EZAt 70,040
O2=2 BZ2ox=22 EZA 14,483
OFO olx=22 HHI B A 300,000
OAMel AR2BZ2otE=HelAlE HEZAl 500,200
OMES ARI2Z2Z2otE=HHelAIE 2l H 47,000
O™ ARD2ZEZ26IEHEAE BtSX HdZ
At 30,000
Odtx=&2Z 2FE4A 242U &X 60,000
ol g1 4] 10,000 1,090 8,910
801 0ilHl Hl 10,000 1,090 8,910
01 Btal bl bl 10,000 1,090 8,910
Oogstoldldl 10,000




